onts = [0, 1, 2]
Func(x):

~eturn x+1
t(list(map(func, elements
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‘mylist=[1, 3, 3, 3, 3, 1]
- max = myList[0]
" indexOfMax =0
~for xin range(1, len(myList)):
~if myList[x] > max:
max = myList[x]
indexOfMax = x

print(indexOfMax)
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values= | |3, 4, 5, 11, [33, 6,
v= values[0][0]
for l1lst in values:
for element in lst:
1t v> element:
v= element

print(v)
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def addition(n):
return n + n

numbers = (1, 2, 3, 4)
result = map(addition, numbers)
print(list(result))
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rix = [[1, 2, 3, 4],
[4, 5, 6, 7],
[8, 9, 10, 11],
[12, 13, 14, 15]]
i in range(0, 4):
print(matrix[i][1],
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= ['Bertha', 'Davida’', 'Moni
= [name.lower() for name in

]
names2[2] [0])
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def x(values):

4

i values[0] =33

0

P

-[1,2,3]
x(v)
print(v)
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myLnst 10:1. 2.3 4 5)

for xinrange(1, 5):
myList[x - 1] = myList[x]

for xin range(0, 5):
print(mylList[x],end="")
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[1, 2, 3]
[4, 5, 6]

map(lambda x, y: x + y, numbersl,
t(result))
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my List = [2, 6, 6, 6, 6, 2]
max = my List[0]
indexOfMax = 0
for i in range(2, len(my List)):
if my List([i] > max:
max = my List[i]
indexOfMax = i
print (indexOCfMax)
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def fn(varl):
varl.pop(1l)
varl=[1,2,3]

fn(varl)
print(varl)
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1st=}11.2.3.4.5]
for 1 in l1st:
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p=[1,3,5,7 7 1]
q=p[0]
a=0
for a in range(1, len(p)):
if p[a] > q:
q = pla]
g=a
print(q)
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stl =
::2 " {8. 7,
t(len](';.lz' g' .
stl ; o
11
st2
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values = [[4, 5, 6, 2], [44, 7, 2, 3]]

x = values[0][0]
for row in range(0, len(values)):
for column in range(0, len(values[row])):
if x < values[row][column]:
x = values[row][column]

print(x)
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= 'abcd’
For 1 in range(len(x)):

print(1)
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def x(list):
y = list[0]
for e in list:
ify<er:y=e
return y

values = [[4, 5, 6, 2], [44, 7, 2, 3]]

for row in values:

print(x(row), end =" ")
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ief myFunction(x,n):

- N==0:
2 .

n myFunction(x, n-1)*x

print(myFunction{2,5jﬂ
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